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P31001 |FRAGEDNE (EEMAEA1ERE KWh 15.01 15.01 15.01 15.01 ZDhZFE
P31002 | ERAENRE EEREF1HRD KWh 14.32 14.32 14.32 14.32 Z0HhE
P31003 |FAGANE EEAER1FIUE KWh 12.58 12.58 12.58 12.58 FDMhE
P31004 | fEAEARE BEMRER1FME KWh 12.04 12.04 12.04 12.04 ZDME
P31005 |BAREHR SER¥E1ERE kW/8 1,452.00 1,452.00 1,452.00 1,452.00
P31006 |BAESIR BERERE1ERE kW/8 1,764.00 1,764.00 1,764.00 1,764.00
P31007 |BEAEHAR RERZRE 1 EUE KW/ 1,210.00 1,210.00 1,210.00 1,210.00
P31008 |BAREHR BEA¥ER1EUE KW/8 1,470.00 1,470.00 1,470.00 1,470.00
BRSNS EERAZH1FRS kWh 16.38 16.38 16.38 16.38 EES
ERROKNE BEREE1ERE KWh 15.64 15.64 15.64 15.64 EES
BRSNS EEREFIFMLE KWh 13.84 13.84 13.84 13.84 5=
BRGNS BSEAZH1FEUL KWh 13.23 13.23 13.23 13.23 2=
BHR EnE (85
-k B foe] 811 JPIEARS [EaN =2d4 aia =]
P31021 |EAEHNE EEREH1FRS KWh 15.01 15.01 15.01 15.01 FDHhE
P31022 |{EAEHNE BEREH1ERD KWh 14.32 14.32 14.32 14.32 ZD1hE
P31023 |ERAGEANE EFAEH1FMUE KWh 12.58 12.58 12.58 12.58 ZDHhE
P31024 |{EAEHNE BEREn1FMUE KWh 12.04 12.04 12.04 1204 | F0ihE
P31025 |EARENR EEREH 1 EXE KW/8 1,452.00 1,452.00 1,452.00 1,452.00
P31026 |BASARN BEREH 1 FRE KW/8 1,764.00 1,764.00 1,764.00 1,764.00
P31027 |BAEAR EERASH 1 FULE KW/8 1,210.00 1,210.00 1,210.00 1,210.00
P31028 |BARENK ATRAE 1 EUE kW/8 1,470.00 1,470.00 1,470.00 1,470.00
ERASINE EEREH1FR KWh 16.38 16.38 16.38 16.38 2=
BRSNS BEREH1EXE KWh 15.64 15.64 15.64 15.64 2=
ERAEANE EEREH 1 EMUE KWh 13.84 13.84 13.84 13.84 2=
FEREHNE SEASB1FEMUE KWh 13.23 13.23 13.23 13.23 EES
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TRI7ILNEEY (—ikithiE) FBRIE T RT(20) ton — — — —
FAI7ILNEE Y (—hgithiE) FHIET A22(20) ton 15,500 * 20,000 *
FTAI7ILNEEY (—fsthi) FHIET AI(13) ton 15,500 * 20,000 *
TRI7INEEY (— ki) MHE T R32(13) ton — — — —
FTARI7ILNREY (— i) FHEX vy T 7RAIU(13) ton — — — —
TRAI7ILNREEY (— ki) BAKIE 7 X22(13) ton — — — —
FARI7ILNEEY FETHE) FHIE 7 R32(20F) ton — — — —
FAI7ILNEEY FESHE) ZHIET A (13F) ton — — — —
TRAI7ILNEEY FET ) HALE ¥ vy T 7RI (13F) ton — — — —
TRAI7ILNEEY FES i) #EHIE 7 23> (13F) ton — — — —
FRI7INEEY FAT ) FHEF vy I 7RIV 3F) ton — — — —
FRAI7ILNEEY FETiHiE) ZHIET A2 (13FH) ton — — — —
TARI7INEEY GESHE) FZHIET A (20FH) ton — — — —
FARI7ILNEEY GES k) #R%IE 7 A2 (13FH) ton — — — —
BETRI7ZILNEESY HHAE 20 ton — — — — —
BETAIZILNEESY FHE 13 ton — — * — *
BEFRIZILNES HAME 13 ton — — — — —
BARSRENEH 40 ton — — — — —
BETAI7ILNESY (— ki) FHRIE T R32(20) ton — — — — —
BETARAI7ILNEESY GESHE) BRI 7 R32(20F) ton = - — - -
BETAZ7ILNEESY GESiE) FHE T R3(13F) ton — — — — —
BETAI7ILNESY GESihE) MHLE T R (13F) ton — — — — —
BERENEH 40 ton
EERELEHM 30 ton
BERENIEM 25 ton
H£a29)—hEE) 18N/mm2 5cm  25(20)mm(W/C=65%LL ) m3 - - — — —
£a9—rEE) 18N/mm2 8cm 25(20)mm(W/C=65%LAF) m3 — 16,700 20,700 20,700 20,000
Ea29U—rEB) 18N/mm2 10cm  25(20)mm(W/C=65%L ) m3 — — — — —
£y —rEB) 18N/mm2 12cm  25(20)mm(W/C=65%LL T ) m3 — 16,900 20,900 20,900 —
£V 9 —rEB 18N/mm2 15cm  25(20)mm(W,/C=65%EL ) m3 — 17,100 21,000 21,000 —
£a29)—hE#E) 18N/mm2 18cm  25(20)mm(W/C=65%LLF) m3 - - — — —
£V —rEB 18N/mm2 5cm 40mm  (W/C=65%LLTF) m3 — 16,300 — — —
£V 9—MNEB) 18N/mm2 8cm 40mm  (W/C=65%EAF) m3 — 16,600 20,700 20,700 20,000
HE3VHU—hEE) 18N/mm2 10cm 40mm  (W/C=65%LA ) m3 — — — — —
£V 9 —rEE 18N/mm2 12cm 40mm  (W/C=65%LLF) m3 — — 20,900 20,900 =
£V —rEB) 18N/mm2 15cm 40mm  (W/C=65%LL ) m3 — — 21,000 21,000 —
£V —MEB 21N/mm2 5cm  25(20)mm(W/C=60%LLF) m3 — — — — —
£V 9U—MEB) 21N/mm2 8cm 25(20)mm(W/C=60%LLF) m3 — 17,300 21,400 21,400 20,700
£V 9U—rEB 21N/mm2 10cm  25(20)mm(W/C=60%LAF) m3 — — 21,500 21,500 —
£V 9 —rEE 21N/mm2 12cm  25(20)mm(W/C=60%LL ) m3 — 17,600 21,600 21,600 =
£V —FEB) 21N/mm2 15¢m  25(20)mm(W/C=60%LLTF) m3 — — 21,700 21,700 —
£ 9y—rEB 21N/mm2 18cm  25(20)mm(W/C=60%LAF) m3 — — 21,900 21,900 —
£ —rEE) 21N/mm2 5cm 40mm  (W/C=60%LLF) m3 — — — — —
£V —EB) 21N/mm2 8cm 40mm  (W/C=60%ATF) m3 — 17,200 20,700 20,700 20,700
£V —MEB) 21N/mm2 10cm 40mm  (W/C=60%LLTF) m3 — — — — —
EaU9)—hEE) 21N/mm2 12cm 40mm  (W/C=60%LLTF) m3 - - - - —
£V —NEB) 21N/mm2 15cm 40mm  (W/GC=60%LLTF) m3 — — 21,000 21,000 =
£V 9 —MEB) 24N/mm2 8cm 25(20)mm(W/C=60%LLTF) m3 — 18,000 21,400 21,400 21,400
£a29)—hEE) 24N/mm2 10cm 25(20)mm(W/C=60%LLF) m3 - - — — —
£V —rEB) 24N/mm2 12cm  25(20)mm(W/C=60%LA ) m3 — — 21,600 21,600 =
AUy —rERE) 24N/mm2 15¢m  25(20)mm(W/C=60%LLTF ) m3 — - - - -
£V 9= EB) 24N/mm2 18cm  25(20)mm(W/C=60%LATF) m3 — 18,700 — — —
£a09U—rEE 24N/mm2 5cm 40mm  (W/C=60%LLT) m3 — — — — —
£V —rEB) 24N/mm2 8cm 40mm  (W/C=60%LLF) m3 — — 21,400 21,400 21,400
£V —MEB) 24N/mm?2 10cm 40mm  (W/C=60%LLTF) m3 — — — — —
£a29—MNEB) 24N/mm2 12cm 40mm  (W/C=60%LLF) m3 - - 21,600 21,600 —
HE3LYU—hEE) 24N/mm2 15¢cm 40mm  (W/C=60%LLF) m3 — — — — —
£a09U—EB 27N/mm2 5cm  25(20)mm(W/C=60%LLF) m3 — — — — —
£V —rEB) 27N/mm2 8cm 25(20)mm(W/C=60%LL ) m3 — — — — —
£V —rEB) 27N/mm2 12cm  25(20)mm(W/C=60%LL ) m3 — — — — —
Hau9)—hEE) 27N/mm2 15cm  25(20)mm(W/C=60%LLTF) m3 - — — — —
£V —EE) 27N/mm2 5cm 40mm  (W/C=60%LLTF) m3 — — — — —
£a9U—ER) 27N/mm2 8cm 40mm  (W/C=60%LLT) m3 — — — — —
£V —rEBE) 27N/mm2 12cm 40mm  (W/C=60%LLF) m3 — — — — —
E3U 9 —MEB) 27N/mm2 15cm 40mm  (W/C=60%LLTF) m3 — — — — —
£a09—rEB 30N/mm2 5cm  25(20)mm(W/C=60%L4AF) m3 — — — — —
£V 9U—rEB 30N/mm2 8cm  25(20)mm(W/C=60%L4F) m3 — — 22,900 22,900 —
£ —ER) 30N/mm2 12cm  25(20)mm(W/C=60%LL T ) m3 — — — — —
£V —FEB) 30N/mm2 15cm_25(20)mm(W/C=60%LLTF) m3 — — — — —
HaV P —rEB) 30N/mm2 5cm 40mm  (W/C=60%LLTF) m3 — — — — —
£a09—rEE) 30N/mm2 8cm 40mm  (W/C=60%LLTF) m3 — — — — —
HE3VHU—rEB) 30N/mm2 12cm 40mm  (W/C=60%LAF) m3 — — — — —
£a9)—rER) 30N/mm2 15¢cm 40mm  (W/C=60%LAF) m3 — — — — —
£330 —rEB) 36N/mm2 8cm 25(20)mm(W/C=60%LLTF) m3 — — 24,500 24,500 —
£V —MNEB) 36N/mm2 12cm  25(20)mm(W/C=60%LL T ) m3 — — 24,900 24,900 =
£a09—EE) 36N/mm2 8cm 40mm  (W/C=60%LLTF) m3 — — — — —
ELU—EE) 36N/mm2 12cm 40mm  (W/C=60%LAF) m3 — — — — —
£2a29)—MNGEFB) 18N/mm2 5cm  25(20)mm(W/C=65%LLF) m3 — — — — —
£330 rEIFB) 18N/mm2_ 8cm 25(20)mm(W/C=65%LL F) m3 — — — — —
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